[ BV AR RAAEIT T LT i ALY M

(@ESERRD |
. TR JZIR
AN E NP RS il 2 5
54 (1) b 1 13d /A1), BC-1LD)HBEOEELZ x+y—2=0 LR 52
JifgE— 2
g
2.7 X* + y? —4x+6y =0 (AR ¢ D
¥ 7| AR3) B.(-2,3) C.(-2,-3)  D.22,3)
o 37 F 0+ Y~ 2X+M =04, X (IR (O
br A. m<l B. m<2 c.mng.msl
JL 2
g %%g 4. WM R X +y? +2ax+2y+(a-1)" =0, #0<a<l, Nl
g lmlz B SPRMERRRL (O
E A. JFUSAER - B. JELATER AN
; C. JFEASLERN D. AINHiE
%D
" S| 5 DAL -y -3=0 50 +y? =42 F A B,
HOA-OB=2, k= ()
Al B /2 ¢l b2
6. CHES A={(xy)|y=vI-x*}, B={(xy)|y=x+b}, #
ANB=T, M b fEE LR
[N K DA 7. CHIPIS 4(0,0), BQ2)FIELZ I IBEE 5 1 A2, XFERKE
BHXA J LIFEN C D
A.1% B.2% C3% D.4%

X2

%%@:Eﬂ%ﬂcngﬁ%rﬂ@>m5%%%6bykﬁmﬁi?A,Bﬁ

o HPHIZEREE R F EHA .
(1)2'? C1, 6 E’Jjﬂﬂr_

,EmﬁE%KﬁMbmWEﬁw,@Fﬁ%ra:%ﬁﬁ,ﬁﬁk%ﬁ;%
RAELE, LW,




